2021

OEM CATALOG

CATEYE, the world’s largest manufacturer of Bicycle Reflex Reflectors,
has been supplying the highest quality reflectors for more than 60 years.
CATEYE have also applied this optical technology to headlights and taillights,
and have a wide range of products for different applications and purposes.

-
CATEYE»
www.cateye.com




COMPANY PROFILE -

ez
I8

T

Bl
Tj

7]

COMPANY PHILOSOPHY [2=:ma]

Deliver quality products through creativity, passion, and teamwork.
EL BIH, B R EARE1E, RIS MR M.

COMPANY MISSION [2=®]

To add value to all aspects of society, including issues related to safety, health, and the environment.
HATRA'ERE, EEKE Ea TR WES, AdS&HEEmNE.

COMPANY HISTORY [a:3ms]

Cateye’s early history catalogs the vision of the Tsuyama family, who actually started out producing and selling architectural metal fittings. In 1948
they turned their focus towards the bicycle industry, producing and selling bicycle parts and accessories. This marked the birth of a family
company Cateye, which today is known as a leading brand world-wide in reflector and bicycle accessories market.

Cateye reflectors, from which the company derives its name, represent our core technology. The name "Cateye" comes from the fact that the
reflectors shine like a cat's eye. In 1957, the company produced Japan's first reflector and marketed it under the trademark of Cateye to the world.
This reflective technology and knowledge were then utilized within Cateye's first safety flashing light in 1964. In Japan, the product became the
first to be tested by the Tokyo Metropolitan Police Department's performance test in 1958 and was instantly recognized by the industry.

Cateye reflectors have since expanded to meet requirements all over the world. In 1967, Cateye product passed SAE-CHP standards in the United
States and continued to pass other strict standards around the world. Notably, Cateye reflectors and front LED headlights for bicycles passed the
StVZ0 German road safety standards which is well known for its high level of demand and strictness as a regulation in the industry.

The source of Cateye’s ability to bring unique products to market lies in our highly creative developmental processes combined with proprietary
production technologies. Our Kanan plant, located in Osaka prefecture, houses state-of-the-art industrial machinery and equipment which include
production systems that are carefully designed to meet specific product standards and regulations.

Cateye’s "reflective" technology, is one of our core technologies and is highly regarded worldwide for its small size, world class performance, and
meeting standards with consistency. Cateye will continue to lead the market globally with the unwavering quality required on each and every
reflector we make and promises to do so for many decades to come.

CATEYERIREALIER T Tswyama KRB R, RBA—FRELZEF R EZN AT 19485F, BELERMBITHETIL, &£~
MEHEETEEHFER Y. XTMRRER RS W CATEYEREA, MSERKXFMBITERGTIHLZE LI

CATEYER R, RFRTHANMZOEA, LR AR BMAPEN. RFWACATEYE", BB TR FGIEHIRE —HRIRNK . 1957
&, NRIEFTHANE—NRIER, FFBEMCATEYERREME R, XA RS AR R AR F7E1964EHIZ A FCATEVEE — 1 &
EWEKT =, MAR R MmT1958F M A B AL — N ARREER BT NKAI ™M, FIEFE R EARTRIZA FL

G, CATEVERE R FEIER M H B R & hAFER. 19674, CATEVEFS ML E BT TSAE-CHPARE, FHiFE S Tkid e 7 H A
EEHIARE. EETFEMNRE, CATEYEBTTE R FFIRTLEDSLATBIT TStvZoB EE g R &
PRI, 1ZARER L E S KR E R T AR AT E 4.

CATEYER AR A mIEETIANEES, BB TESRECENNFRABURERNE
FEAR. LT KRBRMKanan T AR EHK TUHHANIZ &, EPERELTRHCIRTUH
BRES MVERERNETRE.

CATEYERY"R 41" BARKAMZOEARZ —, BHNOHRY, R —AHEARATZRIE
L IN— B, SR RIFT. CATEVERFEREN SN HIEN R ERAR—F,
EERURERFACHAL FFORERRB+FRHBEDN—




THE KEY TO SAFETY rzewsxxa

USA /UK FRANCE
i @
RR-165 RR-530 RR-165 RR-395 RR-530 RR-165
Rear wheel Front Rear wheel Front
e
J
J
GERMANY JAPAN
. ik % . ik
RR-395 RR-317 RR-165 RR-F1 RR-340 RR-0217 RR-F1 RR-340 RR-F1
Rear wheel Front Rear wheel Front Rear wheel Front
_HEME S
Front and Rear Reflectors: BB R

a. The reflectors must be oriented correctly. Note the TOP marking
stamped on the back and mount properly.

b. Fix the reflector housing firmly through bracket with the provided
hardwares.

c. Remember to keep the lens surface perpendicular to the ground not
tilted up or down.

d. The rear reflector is most effective at the back of the rear fender, if the
bicycle has one.

Wheel Reflectors:

a. Two wheel reflectors must be visible on each side.

b. Attach the reflector on the spoke at the groove, the nut and turn it
clockwise with a coin or similar tool. Slide it toward the rim until it's
tightened.

c. Remember to keep good balance on both ends of the reflector to
the rim.

Pedal Reflectors:
Each pedal has reflectors located on the front and rear surface.

Reflector Mount Alignment Test :

1) According to British BS6102: Part 2, United States C.P.S.C. and
Japan JIS D9452. When a force of 90 N (9kgf) is applied to the
reflector in selected direction(s), the optical axis of the reflector
(excluding pedal reflectors or spoke-mounted reflectors or
mudguard-mounted reflector) shall not deflect more than 15
degrees during the test, and shall not exhibit a permanent
displacement greater than 5 degrees after the test.

2) According to German “Technische Anforderungen Fahrzeugteile” TA
Nr.18 (10)

a) Push and Pull Test: 1,05 N/cm 2 x Surface (cm2) Limit :<10
degrees from normal position

b) Durability Test: 200n force (for 5 hours) apply to the reflector
bracket
Limit:< 45 degrees from normal position
| Nm force apply to vertical axis
Limit:+ 5 degrees from normal position
Note: The above description is outline of the regulation. Please
consult authorized organizations for detail.

a RAEFMABVEERIEREAFESEMTOPIES VR FEEIE
HHREELR.

b. 5 M LR B BUR £ 250 H M i ROt R EE .

c. MBERFRAFEEEHEEERIE AN KB T AL

d ZETEREIRNZREFERTR EHRLGRRET.

BFRHEA:

a. MR RAEFVBERNMNEM—BEEN.

b. HER KRB R FAERREZEBAREFRE
B e DURE {8 2 T B IMAS B AE AN &t L BIES Rot B
REWHLIER T [0 52 2 16 B 4 51 X B0 AT

c. VHEEIL R Rt R 5% BRI THIZE R E.

MR R:

E—RMBERBEREFERERITE LA

B R RERMX(R N FFEZEMNEME)

1) #R{EFEEBS6102: Part2, £ EIC.P.S.CFIHAJIS D452 HIFE,
ERABERE—45E &, HE L 90N, (9kgh B 11 £, 71 1 HA
8] R 3t B B9 RS AR AR B 1 5 B (X E KA B & T M
BRI R ERRER) FETEMERION, Okgf(2A T
IMAERMKE, RN AZR KRR ER AR ERETZL.

2) 1REE E "Technische Anforderungen Fahrzeugteile" TA Nr.
18(10)

a) ERLMR: #511,05 N/em 2 X Surface (cm?2) SEE: S EE M E
MAEZH/NRI10E.

b) M A MEMNR: HE200N N =R R FFEZR(5A /)

SEE: SEBNENAERH/NRISE.
INmAERNTREEMELEE: SEEVENRAEDSHELER
5EA.

PitiE: A ERIRGA AEXMERIHA. T ERRRLIEEZH
LA a).



MOUNTING METHOD ==

RR-165-B TR

Reflex Reflector Reflex Lens Black Body Red Lens
REMRRER REBERS HEHRES) BEARGAR) EEA

P S P2 Z SL
(Post) (Seat Stay) (Handlebar) (Bolt & Nuts) (Mudguard) (Tapping Screw) (Slide Lock)
FRONT & REAR REFLECTOR tmusxx
[ - p«"-\..* -~
1183210  RR-0217-GEW  Front (sim) Gray (me)  White (#m) JIS 500 11.712.7 0.037 i T ] 3|

131.6

RR-F1

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn Wt/Ctn (N.W/G.W.)  Ctn Size
RS ne s %% o) ERERAE i/ B/ HCRE/ER)  SMEGR
5008700 RR-F1-BTW Front (sm)  Black (&) White (#%) C.P.S.C./BS/JIS 1000 10411194 0033 =
5008705 RR-F1-BTR Rear (#m) Black (82) Red (zz=)  C.PS.C/BSAIS 1000  10.41/11.94 0033

5008710  RR-F1-SLW Front (sm) Black (2&) White (=) C.PS.C/BSMJIS 1000  7.82/9.1 0.027

36
l@
36
5008715 RR-F1-SLR Rear (#m) Black (22) Red (z2)  C.PS.C/BSMIS 1000  7.82/9.1 0.027 1
36
L)

5008720N RR-FI-BM2RW/LOGO Rear (#m) Black (2&) Red (z&)  C.PS.C/BSWIS 500  7.9/9.1 0.037 4%
5008721N RR-F1-GM2R W/LOGO  Rear (#m)  Gray (x=) Red (a) C.P.S.C./BSNIS 500 7.9/9.1 0037 = %
5008722N RR-FI-WM2RW/LOGO Rear (#m)  White (&m) Red (&)  C.PS.C/BSMIS 500  7.9/9.1 0037 ~ cLp
5008728N RR-F1-SM2RW/O LOGO Rear (#m)  Silver (&) Red (z&)  C.PS.C/BSWIS 500  7.9/9.1 0.037 oo Eammas
5008730 RR-FI-BMRW/LOGO  Rear (#m) Black (2¢) Red (z&)  C.PS.C/BSAJIS 500  7.5/8.0 0.033 B ST e
5008731 RR-FI-GMRW/LOGO  Rear (¥m) Gray (==) Red (z&)  C.PS.C/BSMIS 500  7.5/8.0 0033 &[] %
5008732 RR-FI-WMRW/LOGO  Rear (#m) White (%) Red (a&)  C.PS.C/BSWIS 500  7.5/8.0 0.033 S| |
5008733 RR-FI-SMR W/O LOGO Rear (#m)  Silver (&) Red (a&) C.PS.C/BSMIS 500 7.5/8.0 0.033 P ety
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size
FERRS BS & #= HE ERE R HE/E OER/HEEE/ED MEGFR -
5009201CM RR-165-BTW  Front (@)  Black (=) White (%) C.P.S.C./BS/UN(ECE)IA/StVZO/ 1000 13.0/145  0.054 —

JIS/AS/GB
5009202CM RR-165-BTR  Rear (#m) Black (2&) Red (z&) C.P.S.C./BS/UN(ECE)IA/StVZ0O/ 1000 13.0/14.5 0.054 L

JIS/AS/GB

5009211CM RR-165-SLW  Front (wm)  Black (=) White (=) C.P.S.C/BS/UN(ECE)IA/StVZO/ 1000 10.5/12.2  0.048
JIS/AS/GB

5009212CM RR-165-SLR  Rear (#m)  Black (&) Red (&) C.P.S.C/BS/UN(ECE)IA/StVZO/ 1000 10.5/12.2  0.048
JIS/AS/GB

5080920 RR-165-BPW Front (am) Black (=&) White (&) AS 1000 12.2/13.2 0.105

046
5009221C RR-165-BPW  Front (sm) Black (&) White (ize8) C.P.S.C./BS/UN IAStVZ0/JIS/GB 1000 12.2/13.2 0.105 o B

5009222C RR-165-BPR  Rear (i) Black (2&) Red (z&)  C.PS.C/BS/UN IA/StVZ0/JIS/GB 1000 12.2/13.2 0.105
5080925 RR-165-BPR  Rear («m) Black (2&) Red (a&) AS 1000 12.2/13.2 0.105



Product Code Model No. Position Housing Lens Country Standard
ERRS BE 1 #®% BE ERERE

5009231C RR-165-BP2W Front (sim) Black (&) White (:m) C.P.S.C/BS/UN IA/StVZ0/JIS/GB
(Handlebar) (=)

5080930 RR-165-BP2W Front (srm) Black (2&) White (#m) AS
(Handlebar) (=)

5009250C RR-165-BS3R Rear (im) Black (2&) Red (a2t&)  BS/UN IA/StVZ0/JIS/GB

(Seat Stay) (Lx)

5009251C RR-165-GS3R Rear (&) Gray (==) Red (2&)  BS/UN IA/StVZ0/JIS/GB
(Seat Stay) (=)

5009252C RR-165-SS3R Rear (i) Silver (s8tz) Red ()  BS/UN IA/StVZ0/JIS/GB
(Seat Stay) (#tx)

5009260C RR-165-BS2R Rear (&) Black (z&) Red (a&)  BS/UN IA/StVZ0/JIS/GB
5009261C RR-165-GS2R Rear (#m)  Gray (m=) Red (z&)  BS/UN IA/StVZO/JIS/GB
5009262C RR-165-SS2R Rear (@) Silver (&) Red (a&)  BS/UN IA/StVZO/JIS/GB

5009240C RR-165-BMR Rear (im) Black (=) Red (&)  C.PS.C/BS/UN INStVZ0/IS/GB

5009241C RR-165-GMR Rear (i) Gray (=) Red (zz)  C.PS.C/BS/UN IAStVZONIS/GB
5009247C RR-165-SMR Rear (&) Silver (&) Red (z&)  C.PS.C/BS/UN IA/StVZONIS/GB

RR-290

Product Code Model No. Position Housing Lens Country Standard
RS ne frE #®%E Bl ERERTE

5006040N  RR-290-BTW  Front (ssm) Black (=&) White (&%) C.P.S.C/BS/UN IVA
StVZ0/Belgium/JIS

5006060N  RR-290-BTR  Rear (#@&) Black (&) Red (z&) G.P.S.C/BS/UN IVA
StVZ0/Belgium/JIS

1155215N  RR-290-BM3R Rear (#m) Black (2&) Red (2&) C.P.S.C/BS/UN IVA
StVZ0/Belgium/JIS

Bl

Product Code Model No. Position Housing Lens Country Standard
ERRS Ll HE #x BE ERERNE

RR-395

5004010 RR-395-BTW Front (sm) Black (=&) White (#8) C.P.S.C/BS/UN IVA/
StVZ0/Sweden/Belgium/JIS

5004000 RR-395-BTR Rear (@) Black (&) Red (2) C.P.S.C/BS/UN IVA/
StVZ0(Category Z)/
Sweden/Belgium/JIS

5004050 RR-395-BZR Rear (#m) Black (&) Red (z&) C.P.S.C/BS/UN IVA/
StVzZO(Category Z)/
Sweden/Belgium/JIS

RR-C1

Product Code Model No. Position Housing Lens Country Standard
RS #e 8 #= HE ERERTE

1157001 RR-C1-BMR  Rear («m) Black (2&) Red (a&) BSAIS

1157000 RR-C1-GMR  Rear (#m) Gray (xe) Red (a2&) BS/AIS

Qty/Ctn
HE/IHE

1000

1000

1000
1000
500
500
500
500
500

500
500

Wt/Ctn (N.W/G.W.) Ctn Size
Bi/H0RR/ER)  SMEFR

10.0/13.0

10.0/13.0

12.1/13.1
12.1/13.1
6.2/7.3
8.6/10.1
8.6/10.1
8.6/10.1
8.3/9.3

8.3/9.3
8.3/9.3

Qty/Ctn  WH/Ctn (N.W/G.W.)
BRI ER/AGEIED

1000 20.0/22.0

1000 20.0/22.0

500 14.7/15.7

0.103

0.103

0.064

0.064

0.051

0.035
0.035
0.035

0.035
0.035
0.035

Ctn Size
SMEAERR

0.061

63.0

F,
\

0.061

52.2

62.9

—

0.079

Qty/Ctn  Wt/Ctn (N.W/G.W.) Ctn Size
WE/F ER/EREIED

500 18.5/19.0

500 19.0/20.4

500 18.5/19.0

Qty/Ctn  Wt/Ctn (N.W/G.W.)
B/ ER/FRE/ED

500 10.0/11.0

500 10.0/11.0

Standard installation angle (¥x /%2 3/ )

SMAETR

0.052

0.052

0.053

Ctn Size
SMEHRAR

0.057

0.057

RR-395-BTW (-BTR)

100.3

{11

RR-395-BZR

/90‘?0

S RBFIR330

% V- mEAES
£

.+ RRIF 1R300
- BAEMAREI425°

185

- SBRRIF 1R350
- BAEFAEI20°~30°

*Angular range of effective reflection (EZEH) : 20 - 30°



WHEEL REFLECTOR temxx

RR-550N

Product Code Model No.
FRRS g

5018500C RR-550N-WUW
5018501C RR-550N-WUA

o
Position Housing Lens Country Standard Qty/Ctn
g %% B|E ERERRE BB/
Wheel (#7) - White ()  C.P.S.C./BS/JIS/AS/GB 1000
Wheel (#7) - Amber (szuez)  C.PSC.(Front)/BSHIS/AS/GB 1000

SMN GC INCL.

RR-550 SW & e

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn
ERRS Be & #%= BE ERERE iR/
5018430C RR-550-WUW SWW/0  Wheel (%) - White (i) C.P.S.C/BS/JIS/AS/GB 500
5018431C RR-550-WUASWW/0  Wheel (%) - Amber (szue) C.PS.C/BSUIS/AS/GB 500
5043470C RR-550-WUW/W SMN GC Wheel (%) - White (i) C.P.S.C/BSMIS/AS/GB 200 (KIT)
5043471C RR-550-WUA/ASMNGC  Wheel (%) - Amber (#ze) C.PS.C/BS/MIS/AS/GB 200 (KIT)

RR-530 SW Il

Product Code Model No.
g Be

RS
5018330C
5018331C
5018340N

RR-530-WUW SW II
RR-530-WUA SW II
RR-530-WUA SW II

RR-530

&=

— o o

Position Housing Lens Country Standard Qty/Ctn
E #= HE ERERRE HE/
Wheel (#7) - White (ie3) C.P.S.C./BS/JIS/AS/GB 400
Wheel (%) - Amber (s#e)  C.P.S.C./BS/JIS/AS/GB 400
Wheel (#7) - Amber (#ze) TPL/UN IVA 400

Product Code Model No. Position Housing Lens Country Standard Qty/Ctn
FRRS BS & #x ®E ERERRE B/
5018200C RR-530-WUW Wheel (#7) - White (iz85) C.P.S.C./BS/IS/AS/GB 1000
5018201C RR-530-WUA Wheel (#7) - Amber (&)  C.PS.C.(Front)/BSHIS/AS/GB 1000
5018210N RR-530-WUA Wheel (#7) - Amber (#=e)  TPL/UN IVA 1000
5018220 RR-530-WUR Wheel (#7) - Red (z) C.P.S.C.(Rear) 1000
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn
FRES BS & #x |E ERERRAE BB/
5287601N RR-317-WUA Wheel (#7) - Amber (&)  StVZO/UN IA 1000
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn
FRES S i #x ®|E ERAERRE HE/
5287660N RR-317-WUA SW Il Wheel (%) - Amber () StVZO/UN IA 400
SMN GC INCL.
RR-318 SW 381 »
Product Code Model No. Position Housing Lens Country Standard Qty/Ctn
FERES S & %= H/E & AERFAE /A
5288000 RR-318-WUA SWW/0 Wheel (%) - Amber (#zme) StVZO/UN A 500
5288010  RR-318-WUA SMN GC Wheel (%) - Amber (#ze) StVZO/UN A 100 (KIT)

W/Ctn (N.W/G.W.)  Ctn Size

BRFEHRIZR)  AMAGR
16.3/18.1 0.045
16.3/18.1 0.045

Wt/Ctn (N.W/G.W.) Ctn Size

EE/F(HE/ER)  SMAR
10.2/11.2 0.050
11.0/12.0 0.050
11.0/12.0 0.049
11.0/12.0 0.049

Wt/Ctn (N.W/G.W.) Ctn Size

BR/EHRIER)  IMEGR
14.5/15.5  0.068
145155  0.068
14.5/155  0.068

W/Ctn (N.W/G.W.) Ctn Size
BREHRIZR)  IMEGR
17.0/19.0 0.059
17.0/19.0 0.059
17.0/19.0 0.059
17.0/19.0 0.059
W/Ctn (N.W/G.W.) Ctn Size
BREHRIER)  SMEGR
18.0/20.0 0.067

WH/Ctn (N.W/G.W.) Ctn Size
BRH(ERIER)  AMEGR
12.5/13.5 0.065
WH/Ctn (N.W/G.W.) Ctn Size
BRIE(SRIER)  AMEGR
8.5/9.9 0.033
9.3/10.5 0.051

132.67

13.73

SMIN GC INCL.
T 1
00~

I @&

; 150 ;
; 140 )

RR-550-WUW (-WUA) SW

115.0

133.5

@




RR-316N

Product Code Model No.

RS BE

5287701

RR-340

Product Code Model No.

RS Bs

5287800  RR-340-WUW

RR-345

Product Code Model No.
=

it B

5287900  RR-345-WUW

RR-165  (

Product Code Model No.
ERRS =

5010510  RR-165-WUW
5080950 RR-165-WUA

RR-316N-WUA  Wheel (s7) -

Position Housing Lens
8 #5% HH

Position Housing Lens
8 #% HH

Wheel (#7) -

Position Housing Lens
g #% HE
Wheel (#7) -

|

I ®

S

Position Housing Lens
8 #% HH

White (z8) J

Country Standard
ERERNE

Amber (#:=)  StVZO/UN IA

Country Standard
EAERNE

S

Country Standard
ERERNE

White (=8) JIS

Country Standard
ERERNE

Plastic Wheel (2zmz5¢)  White (&) White (&) C.P.S.C./BSAIS
Plastic Wheel (zzaz5¢) White (m&)  Amber (&)  AS

PEDAL REFLECTOR tmusxs

RR-1
Product Code Model No. Position Housing Lens
RS ne 8 #x o)

5111501C RR-1-A

Pedal (=) White (s&) Amber ()

5111650C RR-1-SL2A Pedal (wz) Black (2&) Amber (#me)

5111530C RR-1-BZA  Pedal (mm) Black (2&) Amber (#me)

RR-1-CA =

Product Code Model No. Position
S L=

MRS =

5111550 RR-1-CA

RR-2

Housing Lens
%% 1)

Pedal (ms) White (a&) Amber (&)

Product Code Model No. Position Housing Lens
ERRS #e 8 #®% BE

5111620C RR-2-A

Pedal (m=) White (a=) Amber (sze)

5111630C RR-2-SLA  Pedal (=) Black (2&) Amber (s#m:e)

Country Standard
ERERE
C.P.S.C./BS/TPP/
Belgium/JIS/AS/GB

C.P.S.C./BS/TPP/
JIS/AS/GB

C.P.S.C./BS/TPP/
Belgium/JIS/GB

Country Standard
EAERE

Qty/Ctn
HE/

1000

Qty/Ctn
HE/HE

1000

Qty/Ctn
HE/

1000

Qty/Ctn
&/ A

500
500

Qty/Ctn
B/

8000

4000

1000

Qty/Ctn
iR/

C.P.S.C./BS/TPP/JIS 4000

Country Standard
ERERNE

C.P.S.C./BS/TPP/
JIS/AS/GB

C.PS.C./BS/TPP/
JIS/AS/GB

Qty/Ctn
HE/

6000

4000

W/Ctn (N.W/G.W.)
BR/B05EIER)

17.0/19.1

W/Ctn (N.W/G.W.)
BB B03EIER)

9.0/111

WH/Ctn (N.W/G.W.)
ER/B3EIER)

8.70/10.70

W/Ctn (N.W/G.W.)
BR/B0SEIER)

7.7/91
7.7/9.1

WH/Ctn (N.W/G.W.)
BER/FHEE/ED)

15.8/16.8

12.0/13.0

8.4/9.4

Wi/Ctn (N.W/G.W.)
ER/BGRE/ED)

7.7/8.7

WH/Ctn (N.W/G.W.)
BR /B3R ER)

9.1/9.7

8.8/9.6

Ctn Size
SMEGRR

0.034

Ctn Size
SMEGRTR

0.031

Ctn Size
SMEHERR

0.031

Ctn Size
SMEPRRR

0.033
0.033

Ctn Size
SMEAR

0.041

0.041

0.027

Ctn Size
SMERAR

0.025

Ctn Size
SMERRAR

0.024

0.031

5.07




WORLD MAJOR SAFETY STANDARDS

U.S.A. Regulation (C.P.S.C.) £E4# &5 RREERSITECPSC)

Front Reflector #1&tH
Clear(1pc.) #EBH0A)

O (J o

RR-165

Rear Reflector #&tk
Red(1pc.) 40k

RR-290 RR-F1 RR-165 RR-290 RR-F1

Canada jm&k#t&

Front Reflector BiR¥tH
Clear(1pc.) &R0

O (J o

RR-165 RR-290 RR-F1

Rear Reflector #gstk
Red(1pc.) a&(k)

RR-165 RR-290 RR-F1

British Standard (BS6102/2) #E#11&(Bs6102/2)

Front Reflector &tk
Clear(1pc.) #EH0AH)

O (J o

RR-165 RR-290 RR-F1

Rear Reflector #gstk
Red(1pc.) &0k

RR-165 RR-290 RR-F1

German Homologation (StVZO) @E##(stvzo)

Front Reflector #1&3tH Rear Reflector #gstk
Clear(1pc.) ##(1/) Red(1pc.) a0/

o (] o [ 0o

RR-165 RR-290 RR-165 RR-290 RR-395

RR-395

French Homologation :xE#li&

Front Reflector #imsts
Clear(1pc.) &8GR

O [J

RR-165 RR-290

Rear Reflector %K
Red(1pc.) et/

RR-165 RR-290 RR-395

RR-395

Wheel Reflector #&#k
Front(1pc.) #i#t(ipc)

=D
=0 =D

RR-550N RR-530

Wheel Reflector #mk
Front(1pc.) #i$t(iec)

=D
oD D

RR-550N RR-530

Wheel Reflector Clear #5554 &%
Front(1pc.) #i#t(iec)

= =D

RR-550N RR-530

Wheel Reflector
Front(2pcs.) ##t(2pcs)

Wheel Reflector
Front(1pc.) #i#(iec)

=D

RR-530

UN R3 Class IA (Ex: Denmark, Austria) uN #i& 1A (Fia0; 3, EibF|)

Front Reflector #i&st)
Clear(1pc.) E8GA)

O

RR-165

Rear Reflector #mstH
Red(1pc.) 4&0k)

RR-165

UN R3 Class IVA (Ex: Sweden, Finland, Denmark)

Front Reflector #i&sts
Clear(1pc.) E0A)

0o

RR-290 RR-395

Rear Reflector #Rth
Red(1pc.) 4&0k)

RR-290 RR-395

Wheel Reflector
Front(1pc.) Br#tiec)

ap

RR-316N

RR-317

RR-318 SW

Wheel Reflector
Front(1pc.) #i#(ipc)

=D

RR-530

Japanese Standard (JIS D9452) / B.A.A. B###&(IS D9452) / BAA.

Front Reflector #igstk
Clear(1pc.) ZE#0kH)

Rear Reflector #&stk
Red(1pc.) 4&0k)

=== Q 0O Q.l

RR-0217-GEW RR-165 RR-F1 RR-165 C1 RR-F1

Australian Standard (AS-2142) &k FIF#4&(AS-2142)

Front Reflector #1&tk
Clear(1pc.) EB0RH

O

RR-165

Rear Reflector #&ith
Red(1pc.) L&/

RR-165

Wheel Reflector #5354
Front(1pc.) #i#(iec)

= D D B8

RR-550N RR-530

RR-345

RR-340

Wheel Reflector
Front(1pc.) #i#(iec)

RR-550N RR-530
RR-550N RR-530

Chinese Standard (GB31887-2015) it A R#FEEZRRE (GB31887-2015)

Front Reflector #1&th
Clear(1pc.) EB0RH

O

RR-165

Rear Reflector #&ith
Red(1pc.) L&/

RR-165

Wheel Reflector
Front(1pc.) #i#ipc)

RR-550N RR-530
RR-550N RR-530

Amber #R:tF EHE
Rear(2pcs.) ##t(2pcs)

RR-316N

e

RR-318 SW

UNFIHE IVA (Bl30; Hmet, 5=, A=)

Rear(1pc.) #&#(ipc)

=D
D 8D

RR-550N RR-530

Rear(1pc.) ##(1pc)

=D
oD T D

RR-550N RR-530

Rear(1pc.) ##(ipc)

oD 6D

RR-550N RR-530

RR-317

RR-318 SW

Amber #ExF HwHe

Rear(1pc.) #%#(1pc)

=D

RR-530

Amber #R:A HHE
Rear(1pc.) #%#(1pc)

(W)

RR-316N

Amber #ExF HEme

Rear(1pc.) #%#(ipc)

=D

RR-530

Rear(1pc.) #%#(1pc)

Amber #mxs wmE

Amber %Rtk HHE

RR-550N RR-530
p €D
RR-345 RR-340
Rear(1pc.) ##(1pc)
RR-550N RR-530
RR-550N RR-530
Rear(1pc.) ##(ipc)
RR-550N RR-530
RR-550N RR-530

[HREZEERZEMNE]

Pedal Reflector Amber m#Rt) #me
Right (2pcs.) Aifizecs)  Left (2pces.) Zifi(2ecs)

= =
RR-1 RR-1

= — =S —
RR-2 RR-2

Pedal Reflector Amber mzsts #me
Right (2pcs.) #ineecs)  Left (2pces.) Zin(2ecs)

= |
RR-1 RR-1

= =
RR-2 RR-2

Pedal Reflector Amber mzrs wme
Right (2pcs.) Aifzees)  Left (2pces.) Zin2ocs)

= =
RR-1 RR-1

—_— —_——
RR-2 RR-2

Pedal Reflector Amber mismh sme
Right (2pcs.) Aifizees)  Left (2pces.) Zin2ocs)

| |
RR-1 RR-1

= —
RR-2 RR-2

Pedal Reflector Amber #i#RtF ##E
Right (2pcs.) Aifizecs)  Left (2pces.) Zin2ocs)

= =
RR-1 RR-1

= =
RR-2 RR-2

Pedal Reflector Amber mimzgts #me
Right (2pcs.) Aiseocs)  Left (2pces.) Zih(2ocs)

| e |
RR-1 RR-1

e e
RR-2 RR-2

Pedal Reflector Amber mi#RtF ##E
Right (2pcs.) Aifizees)  Left (2pcs.) Zifi2ocs)

o o
RR-1 RR-1
= =
RR-2 RR-2

Pedal Reflector Amber mgRt) it
Right (2pcs.) #ifizecs)  Left (2pes.) Zifi(2ocs)

= =
RR-1 RR-1

= —— =S —
RR-2 RR-2

Pedal Reflector Amber mRt) #me
Right (2pcs.) #iseecs)  Left (2pces.) Zif2ocs)

= i
RR-1 RR-1
—_— —_—
RR-2 RR-2

Pedal Reflector Amber mrt) #me
Right (2pcs.) #ifizecs)  Left (2pes.) Zifi(2ocs)

| =
RR-1 RR-1

= —— = ——
RR-2 RR-2



IMPRINT DESCRIPTION )
U.K. (2E) BS6102/2 (=ED) e K
Germany
UN (Bx8) 1aED), VAEYD (EE%%EH) Z(Carrier Reflector)
Sweden (i) A Japan (B7) @
IA
Belgium (L FRT) Australia (2XFIL)
I (Pedal Reflector) /
TPL (Wheel Reflector) China (FE) GB31887
France (%E)
TPP (Pedal Reflector)
BRACKET ==
Model No. BS-3 BS-5 HP-5 SP-5 SP-6 SP-7 SP-8 SP-9
012.7~13.4 215.5~16.5 019.0~20.6 023.5~25.0 026.5~28.2 228.8~30.5 231.0~32.5 034.5~36.0
BOLT: BOLT: BOLT: BOLT: BOLT: BOLT: BOLT: BOLT:
M5 x L28 M5 x L28 M5 x L30 M5 x L30 M5 x L30 M5 x L30 M5 x L30 M5 x L30
= |7 R
(I )
021.2~22.6 025.4~27.2 028.5~30.2 030.8~32.5 ©033.0~34.5
BOLT: BOLT: BOLT: BOLT: BOLT:
M5 x L30 M5 x L30 M5 x L30 M5 x L30 M5 x L30
Without Packing
(g ) g E
Product Code ~ Model No.  Position Rubber Pad Pipe Size(mm) Screw Size(nm)  Country Standard Qty /Ctn Wt /Ctn ww./ew)  Ctn Size
Fame ne E e () 4244 R (o) ERERA A e £ e ) SMEHER
5009501 BS-3 Seatstay (FLX) With (p) 012.7-13.4 M5 x 28 C.PS.C.AIS 1000 9.2/10.2 0.019
5009511 BS-5 Seatstay (FEX) With (p) 015.5-16.5 M5 x 28 C.PS.C.AIS 1000 9.4/10.4 0.019
5009505 GS-3 Seatstay (FEX) With (ph) 012.7-13.4 M5 x 28 C.PS.C.AIS 1000 9.2/10.2 0.019
5009515 GS-5 Seatstay (FLX) With (p) 2155-16.5 M5 x 28 C.PS.CAIS 1000 9.4/10.4 0.019
5009521 HP-5 Handlebar () With () 219.0 - 20.6 M5 x 30 C.PS.CAIS 1000 10.8/11.8 0.032
Without () 021.2-22.6 M5 x 30
5009531 SP-5 Seatpost (E#) With (p) 923.5-25.0 M5 x 30 C.PS.CAIS 1000 11.5/12.5 0.032
Without (7Rpt) 025.4 -27.2 M5 x 30
5009541 SP-6 Seatpost (E#F) With (ph) 026.5 - 28.2 M5 x 30 C.PS.C.AIS 1000 11.6/12.6 0.032
Without () 928.5-30.2 M5 x 30
5009551 SP-7 Seatpost (Z#) With (p) 028.8 - 30.5 M5 x 30 C.PS.C.AIS 1000 13.8/14.5 0.038
Without (#pft) 230.8 - 32.5 M5 x 30
5009561 SP-8 Seatpost (E#) With (p) 231.0-32.5 M5 x 30 C.PS.CAIS 1000 13.4/14.4 0.039
Without (7=pt) 033.0 - 34.5 M5 x 30
5009571 SP-9 Seatpost (E#F) With (pth) 034.5 - 36.0 M5 x 30 C.PS.C.AIS 1000 14.2/15.2 0.052
Without (7Rt) 236.5 - 38.0 M5 x 30



HEAD LIGHT / TAIL LIGHT o rm

HL-HUB200

HL-HUB200AS

HL-HUB200D

+ Hub Dynamo specific
- Compatible with 6V/2.4W specifications

- JIS standards compliant (in accordance with BAA)

« Attaches to center fork or below the front basket
» Compact body without a reflector

+ Daytime Light

*J1 harness terminal

- EREEHER

- FER6V/2.4W HHE

- HRIISKRE (FFEBAAKISE)

- REERXAHOLE HAEETA.
- NEH R R R EINY

- BEAT
RUE: 23 R
Size (5%2) ©  47.0x47.0x65.0mm

ALL SIDE
WEATHER RVISIBILITY
Product Code Model No.

RS BHE
5340731 HL-HUB200
5340734 HL-HUB200 D TWIN
5340735 HL-HUB200 AS CORD500
5340733 HL-HUB200 AS
5340780 BF-2 BRACKET
5340781 BF-2 L BRACKET

GVOLT25C

+ Pedal-assist electric bicycle only

+ Compatible with 17.5V~30V (rated value 25.9V)
specification and 6V specification

+ JIS standards compliant (in accordance with BAA)

+ Attaches to center fork or below the front basket

+ Compact body without a reflector

- B HBEITEER

- FA17.5V~30VIAE (B E25.9V)FI6 VL&
- FRJISIRE (FEBAASE)

- REFEMXNHROLE, SRIRETA.

- REFH R R E N

Size (f5F2) © 47.0x47.0x65.0mm
ALL SIDE

WEATHER RVISIBILITY
Meets Body Color Rated Voltage  Terminal & Cord Length
MRME SRR HEBE WFRSEKE
JIS Black 6V-2.4W J1 Terminal
JIS Black 6V-2.4W J2 Terminal
JIS Black 6V 02T-JWPF-VSDLE-S/500mm
JIS Black 17.5~30V  02T-JWPF-VSDLE-S/130mm

Product Code Model No. Meets
RS #e X Rz
5340152 HL-EL370G BULK  JIS/StvZo

- IS0 light distribution with Approx. 2500 cd brightness

« JIS/StVZ0 standards compliant (in accordance with BAA)

« Top cut light distribution to reduce glare to the surroundings

« Light distribution that illuminates a large area of road surfaces
« Equipped with a battery indicator to show battery life

+ Mode memory function to start where you left off

Size (1KF3

’@
DAYTIME FlexTight” INDICATDR

85.5x34.0x38.0mm

+ Hub Dynamo specific + Compatible with 6V/2.4W specifications
+ JIS standards compliant (in accordance with BAA)
+ Attaches below the front basket
+ Achieves the highest grade of brightness in BAA light
distribution standards (equivalent to BAA grade 5)
« Able to independently adjustable light angles
+ Daytime Light
*J2 harness terminal
- EERBIEEE A
- FA6V/2.4W MK
- FEJISIRE (FFEBAAHLTE)
- REFFETH
- REIBAAR AR BB R E SR L FBAA 54)
- TSI AT AR B R [E F

- BEAT
* 24 R
Size (fKF2) © 47.0x47.0x65.0mm

ALL SIDE
WEATHER RVISIBILITY
Qty/Ctn  Wt/Ctn (N.W/G.W.)  Ctn Size
B/ EB/HARE/ED) SMEERR
100 4.86/5.76 0.034
50 5/6.35 0.029
50 2.9/3.85 0.029
100 4.86/5.76 0.034
500 22.29/22.94  0.029
500 21.95/22.62  0.029

- 3 RZISOERHE, £92500cd = &

- & BARJISKEESVZOMRE (FFEBAAKISE)

- LY@ S iR, B AERZLAIR AR E

R XEEEEN LS T

- EEEERRIEE

- BRXIBIZIh8E, ERXARRAE T TRBHAZH A

Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size

BB R it RENE HE/HE BE/HBEIER) SMEAEAR

Black AAA batteriesx3  Handlebar 100 TBA TBA
(Include) ((22-35.0mm)



TL-SLR120

« The solar panel recharges the built-in battery for repeated usage. - REXPHEEFTFEINAE A EE FTHER

- Ensures about three times the runtime when compared to - HHEFIH7Z F(TL-SLR100N)RIE % 7 345 893174 FA R iE)
previous model (TL-SLR100N). - TEPEYCE 5t T FE R 4/ AT ZE IR IR AR TS IE 1T 22/N B

- About 4 hours of charge under direct sunlight allows about - HAJISKRERT R
22 hours of operation in Flashing mode. - EATREEHRR (BER)

- JIS standard compliant wide angle reflector R K BHBEFE h+$R S FEFE BB th(GP 1 TAAAH)

+ Mud guard ready (fixed attachment) *7E F FE I AT A SR k.

Power source: Solar battery + NiMH rechargeable battery (GP17AAAH)
*Rechargeable Battery is replaceable

vz 459 50.6
< \E @ REFLECTOR W~ \
—f Il I

AutoLite™ Jl RECHARGE  ECE /Jis JWEATHER

&
35°
Product Code Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size
RS ne Xt REH SNEE Hits REE R R/ B3R IER) MR
5441790 TL-SLR120 JIS(D 9452) Dark Gray ~ GP17AAAH Mudguard 100 4.7/5.4 0.017
- The solar panel recharges the built-in battery for repeated usage. - NEKFRRETB NG AT ES TR IEA
- Ensures about three times the runtime when compared to - BT IR & (TL-SLR200N)RIE % T 31& RO 1T{E F R 18
previous model (TL-SLR200N). - ZEPASL B 5T T FE R 4/ AT FE I RAR S T AT 22/N B
« About 4 hours of charge under direct sunlight allows about - FERJISHRENT BRER
22 hours of operation in Flashing mode. - ERTREERLEX
+ JIS standard compliant wide angle reflector F3JR: K BHBEFE i+ $R S FEFE BB B (GP 1 TAAAH)
« Attaches to seat stay *7E i FR it AT A SR 4.

Power source: Solar battery + NiMH rechargeable battery (GP17AAAH)
*Rechargeable Battery is replaceable

47.1 506
= A [ Y

—f TN I DO T
AutoLite” J rechaRGe Jl ece s JweATHER

Attached bracket : BS-3N (g12.7-16.0mm)
Bf#3248 * BS-3N(912.7~16.0mm)

Product Code  Model No. Meets Body Color Battery Mounting position Qty/Ctn Wt/Ctn (N.W/G.W.) Ctn Size

FERRS L= X REARAE MR At RENE BB ER/HEREIED SMERAR

5441962  TL-SLR220 JIS(D 9452) Dark Gray ~ GP17AAAH Seat stay 100 5.2/6.2 0.040
(12.7-16.0mm)

5441963  TL-SLR220 BK DM JIS(D 9452) Black GP17AAAH Direct mount 100 4.88/6.4 0.029

10



CAT EYE co.,L1D.

2-8-25, Kuwazu, Higashi Sumiyoshi-ku,
O0SAKA JAPAN. 546-0041

Tel: 81-6-6719-7781 Fax: 81-6-6719-2362
e-mail: sales@cateye.co.jp

TAIWAN

U-MOUTH ENTERPRISE CO., LTD
BEMLLEARAF

Add:No. 75, Zhongshan 8th Rd., Daya Dist, 42841 Taichung.

Taiwan. R. 0.C./&Hm AR E R LN\BE75%5

Zip code: 42841

TEL:+886-4-25662575 FAX:+886-4-25660820
e-mail: umouth@ms39.hinet.net

CHINA

TAICANG YOUSHI TRADING CO.,LTD.
XEMAHRERAH

Add: East of No.356, Zhenghe East Road, Ludu Town, Taicang City,
Jiangsu Province, China./ iI#& X € HkEE B FIZRH 356 S 1
Zip code:215412

TEL:86-512-5371-8119 FAX:86-512-5371-8599
E-mail:sales@youshi.net.cn

2021.02





